+15V A

GND
7805
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=4 L - GND
from printer port
pin # in brackets These Resistors should be
1.8k selected for equal resistance
Strobe (1) +5V
i 2
2 19
TLO81 powered +/-15V
3
D6 (8) D£ 3 18 W I PACout
74HC573 2 1
22k
D5(7) O—q4 17 100k
m - V/oct adj
offset
5k
D4 (6) O—5 16 L adj
22k
-15v
D2 (4) O—17 14
D1 (3) O—y38 13
22 x 22k 1% selected
DO (2) O—i19 12
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Alternatetively a 74HCT573,

74HCH574 or 74HCT574 can be used here
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from printer port

+bV

pin # in brackets +BV
1.8k
Auto (14)
11 20
D7 (9) O——2 19
D6 (8) O 3 18
74HC573
b5 (7) O—y4 17
D4 (6) O—5 16
D3 (5) O— ¢ 15
D2 (4) O—7 14
D1 (3) O—i38 13
DO (2) 9 12
100k

11

Pull down not shown for D1-D7
Use a 9pin SIL Resistor array!

Yy

4/6 74LS07
(powered on 5V pinl4,
Pin 7 is GND)
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10
9

1g4L51457
6 O Enable 5

14

15

—O Enable 9
—O Enable 8
——O Enable 7
—O Enable 6

—O Enable 4
—O Enable 3
—O Enable 2
—O Enable 1
—O Enable 0

to multiplexers

To the Enable pins
of up to 10
CD4051s
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The three pullups for A,B,C only need to be at the first 4051,
they must be left out at the second, third... ..

A A A A

Only one output

15V section is shown.
4a7k|47k)47k |47k
From one of g g g § T Out 7 TLO84 powered @+/-15V
the outputs = 4 +
E Output
of the 'LS145 O ¢ 6 , l _ utpu
I I 4.7k
From DACout O nis CD4051 5 b 1
I = 100n MKT
(o o ¢ 9 ™ 1
B 15
From 'LSO7{ O s 10 )
A 13 E 0
O—e 1
7 8
4.7k B
-1V 1N4148

Note: This section can be copied up to 10 times. Providing 80 Outputs.

The A B & C lines are bussed to all 4051s. The Enable line goes
from one 4051 to one output of the 'LS145
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